
MATHS

BOOKS - BEYOND PUBLICATION

SIMILAR TRIANGLES

Example

1. State and prove basic Proportional theorem.

Watch Video Solution

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_d6CLcMZaDRHC


2. Prove that a line joining the mid points of any two

sides of a Triangle is parallel to the third side. (Using

Converse of Basis Proportionality theorem)

Watch Video Solution

3. In two triangles, if the angles are equal, then the

sides opposite to the equal angles are in the same

ratio (or proportional) and hence the two triangles

are similar.

Watch Video Solution

https://dl.doubtnut.com/l/_FRhhUAGgFtsD
https://dl.doubtnut.com/l/_MgFVX0qGxk2o


4. If In two triangles, the sides of one triangle are

proportional to the corresponding sides of the other

triangle, then their corresponding angles are equal

and hence the traingles are similar.

Watch Video Solution

5. IF one angle of a triangle is equal to one angle of

another triangle and the sides including these angles

are proportional, the two triangles are similar. This

property is……….

Watch Video Solution

https://dl.doubtnut.com/l/_kJsodrGNTuD6
https://dl.doubtnut.com/l/_CFlzORwOVrk2
https://dl.doubtnut.com/l/_pdliAZSkqbEt


6. The ratio of areas of two similar triangles is equal to

the ratio of the squares of corresponding…….

Watch Video Solution

7. A perpendicular is drawn from the vertex of a right

angle to the hypotenuse then the triangles on each

side of the perpendicular are…….

Watch Video Solution

8. Pythagoras theorem (Baudha-yana theorem):

In a right triangle, the square of the hypotenuse is

https://dl.doubtnut.com/l/_pdliAZSkqbEt
https://dl.doubtnut.com/l/_lY8KSxb9KlON
https://dl.doubtnut.com/l/_31a3AarKP5eQ


equal to the sum of the squares of the other two

sides.

Watch Video Solution

9. Converse of Pythagoras theorem:

In a triangle if the square of one side is equal to the

sum of squares of the other two sides, then the angle

opposite to the first side is a right angle and the

triangle is a right angled triangle.

Watch Video Solution

https://dl.doubtnut.com/l/_31a3AarKP5eQ
https://dl.doubtnut.com/l/_42ZjLirGplCv


10. In ,  and . 


AC=5.6. Find AE. 


Watch Video Solution

△ ABC DE ∣ ∣ BC A B =
D

D

3

5

(AS1)

11. In the given figure .


,AC=2x, and 

find the value of x.

LM ∣ ∣ AB

AL = x + 3 BM = x + 2 BC = 2x + 3

https://dl.doubtnut.com/l/_hpHWLwzFU0KW
https://dl.doubtnut.com/l/_DzVbgrD488x5


Watch Video Solution

12. The diagonals of a quadrilateral ABCD intersect

each other at point'O' such that . Prove

that ABCD is a trapezium.

Watch Video Solution

=
AO

BO

CO

DO

13. In trapezium ABCD, . E and F are points

on non-parallel sides AD and BC respectively such that

. 


Show that .

Watch Video Solution

AB ∣ ∣ DC

EF ∣ ∣ AB

=
AE

ED

BF

FC

https://dl.doubtnut.com/l/_DzVbgrD488x5
https://dl.doubtnut.com/l/_XoJ02SE3smnv
https://dl.doubtnut.com/l/_kKOZSCoIBrcg


14. All squares are…….

Watch Video Solution

15. Fill in the blanks with similar/not similar.

All equilateral triangles are……………….

Watch Video Solution

16. Fill in the blanks with similar/not similar.

All isosceles traingles are……………..

Watch Video Solution

https://dl.doubtnut.com/l/_kKOZSCoIBrcg
https://dl.doubtnut.com/l/_zFymk71VmvIU
https://dl.doubtnut.com/l/_GpLdFUu3OFnf
https://dl.doubtnut.com/l/_zIknKf5Xq5bO


17. Fill in the blanks with similar/not similar. Two

polygons with same numbers of sides are………, if their

corresponding angles are equal and corresponding

sides are equal.

Watch Video Solution

18. Fill in the blanks with similar/not similar. Reduced

and enlarged photographs of an object are…..

Watch Video Solution

https://dl.doubtnut.com/l/_zIknKf5Xq5bO
https://dl.doubtnut.com/l/_iwHMtpF3Hyr3
https://dl.doubtnut.com/l/_UUWVb3U7IWWE


19. Fill in the blanks with similar/not similar. Rhombus

and squares are………… to each other.

Watch Video Solution

20. Write True/False for the following statements. Any

two similar figures are congruent.

Watch Video Solution

21. WriteTrue/Falseforthefollowingstatements.Any two

congruent figures are similar.

Watch Video Solution

https://dl.doubtnut.com/l/_DuP8tjT2S5Ax
https://dl.doubtnut.com/l/_tDmXU05Oi70v
https://dl.doubtnut.com/l/_pLNV7G7MLhma


22. WriteTrue/Falseforthefollowingstatements.Two

polygons are similar if their corresponding angles are

equal.

Watch Video Solution

23. Give two different examples of pair of i) Similar

figures

Watch Video Solution

https://dl.doubtnut.com/l/_pLNV7G7MLhma
https://dl.doubtnut.com/l/_KCfWhKPx3PLf
https://dl.doubtnut.com/l/_JnzqAi3HDrp0


24. Given two diferent examples of pair of (i) similar

figures. (ii) Non-similar figures.

Watch Video Solution

25. What value(s) of  will make , in the given

figure?

, , 


x DE/AB

AD = 8x + 9 CD = X + 3

https://dl.doubtnut.com/l/_EhR6rnJGrdts
https://dl.doubtnut.com/l/_Bf8Ks0gMyhBD


, 


Watch Video Solution

BE = 3x + 4CE = x

26. In , DE//BC. AD=x, , AE=x+2

and .Find the value of x.

Watch Video Solution

△ ABC DB = x − 2

EC = x − 1

https://dl.doubtnut.com/l/_Bf8Ks0gMyhBD
https://dl.doubtnut.com/l/_25wpfSuLvF9g


27. E and F are points on the sides PQ and PR

respectively of . For each of the following state

whether  or not? 


PE=3.9 cm ,EQ=3cm, 

PF=3.6 cm and FR=2.4 cm.

Watch Video Solution

ΔPQR

EF ∣ ∣ QR

28. E and F are points on the sides PQ and PR

respectively of . For each of the following state

whether  or not? 


ΔPQR

EF ∣ ∣ QR

https://dl.doubtnut.com/l/_25wpfSuLvF9g
https://dl.doubtnut.com/l/_ztAWUEkKyPiV
https://dl.doubtnut.com/l/_XJI0KgXWavgc


PE=4cm,QE=4.5cm, 

PF=8 cm and RF=9cm.

Watch Video Solution

29. E and F are points on the sides PQ and PR

respectively of . For each of the following state

whether  or not? 


PF=1.28 cm, FR=2.56 cm, 

PE=0.18 cm and EQ=0.36 cm.

Watch Video Solution

ΔPQR

EF ∣ ∣ QR

https://dl.doubtnut.com/l/_XJI0KgXWavgc
https://dl.doubtnut.com/l/_Ceyz2BfzoMrp


30. In the following figures DE||BC.

Find EC

Watch Video Solution

31. In the following figures DE||BC.

Find AD

https://dl.doubtnut.com/l/_aQrdNTC8XcPH
https://dl.doubtnut.com/l/_1Go7fAsD9hXH


Watch Video Solution

32. Can you give some more examples from your daily

life where scale factor is used?

Watch Video Solution

https://dl.doubtnut.com/l/_1Go7fAsD9hXH
https://dl.doubtnut.com/l/_LnPWMptJciWH
https://dl.doubtnut.com/l/_fUqKynPIUSJt


33. Can you say that a square and a rhombus are

similar ? Discuss

Watch Video Solution

34. In ,ST is a line such that  and

also . Prove that  is an

isosceles Triangle.

Watch Video Solution

ΔPQR =
PS

SQ

PT

TR

∠PST = ∠PRQ ΔPQR

35. In the given figure,  and ,

prove that .


LM ∣ ∣ CB LN ∣ ∣ CD

=
AM

AB

AN

AD

https://dl.doubtnut.com/l/_fUqKynPIUSJt
https://dl.doubtnut.com/l/_D6fmcLpFBTli
https://dl.doubtnut.com/l/_LtukqFhl9NUP


Watch Video Solution

36. In the given figure,  and  prove

that .


DE/AC DF /AE

B E = B C
F

F

E

E

https://dl.doubtnut.com/l/_LtukqFhl9NUP
https://dl.doubtnut.com/l/_C4TwRP0fLu6r


Watch Video Solution

37. Prove that a line drawn through the mid-point of

one side of a Triangle parallel to another side bisects

the third side (Using Basic proportionality theorem).

Watch Video Solution

https://dl.doubtnut.com/l/_C4TwRP0fLu6r
https://dl.doubtnut.com/l/_0qwqbS86Zjft


38. Prove that a line joining the mid points of any two

sides of a Triangle is parallel to the third side. (Using

Converse of Basis Proportionality theorem)

Watch Video Solution

39. In the given figure,  and .

Show that .

DE ∣ ∣ OQ DF ∣ ∣ OR

EF ∣ ∣ QR

https://dl.doubtnut.com/l/_6DOODlxxKuUe
https://dl.doubtnut.com/l/_zmKXyOBKzr3Y


Watch Video Solution

40. In the given figure, A, B and C are points on OP,OQ

and OR respectively that  and AB ∣ ∣ PQ AC ∣ ∣ PR

https://dl.doubtnut.com/l/_zmKXyOBKzr3Y
https://dl.doubtnut.com/l/_80BjEhzlVe6m


. Show that .

Watch Video Solution

BC ∣ ∣ QR

41. ABCD is a trapezium in which  and its

diagonal intersect each other at point 'O'. Show that

.

Watch Video Solution

AB ∣ ∣ DC

=
AO

BO

CO

DO

https://dl.doubtnut.com/l/_80BjEhzlVe6m
https://dl.doubtnut.com/l/_Wny9LGbIHoaz


42. Draw a line segment of length 7.2 cm and divide it

in the ratio 5:3 .Measure the two parts.

Watch Video Solution

43. A Person 1.65 m m tall casts 1.8 m shadow. AT the

same instance, a lamp post casts a shadow of 5.4 m.

Find the height of the lamp-post. 

Watch Video Solution

https://dl.doubtnut.com/l/_Wny9LGbIHoaz
https://dl.doubtnut.com/l/_skDCCTnmiGK7
https://dl.doubtnut.com/l/_2gcegSIEJ8Qv


44. A man sees the top of a tower in a mirror which is

at a distance of 87.6 m from the tower. The mirror is

on the ground facing upwards. The man is 0.4 m away

from the mirror and his height is 1.5 m. How tall is the

tower?

Watch Video Solution

45. Area the triangle similar? IF so, name the criterion

of similarity. Write the similarity relation in symbolic

form. 

https://dl.doubtnut.com/l/_2gcegSIEJ8Qv
https://dl.doubtnut.com/l/_1Gt12GyyPVJ7
https://dl.doubtnut.com/l/_g49kHMLNYxRq


 

!!  alt.int.angles for the  parallel

lines 

Watch Video Solution

∠G = ∠I ∠F = ∠K

GF / /KI

46. Area the triangle similar? IF so, name the criterion

of similarity. Write the similarity relation in symbolic

https://dl.doubtnut.com/l/_g49kHMLNYxRq
https://dl.doubtnut.com/l/_ztOAqlrM1uTI


form. 

Watch Video Solution

47. Area the triangle similar? IF so, name the criterion

of similarity. Write the similarity relation in symbolic

https://dl.doubtnut.com/l/_ztOAqlrM1uTI
https://dl.doubtnut.com/l/_BSuGA95t31BC


form. 

Watch Video Solution

48. Area the triangle similar? IF so, name the criterion

of similarity. Write the similarity relation in symbolic

https://dl.doubtnut.com/l/_BSuGA95t31BC
https://dl.doubtnut.com/l/_JeA9gdve9if7


form. 

Watch Video Solution

49. Area the triangle similar? IF so, name the criterion

of similarity. Write the similarity relation in symbolic

https://dl.doubtnut.com/l/_JeA9gdve9if7
https://dl.doubtnut.com/l/_SXoisrIzr0dE


form. 

Watch Video Solution

50. Area the triangle similar? IF so, name the criterion

of similarity. Write the similarity relation in symbolic

https://dl.doubtnut.com/l/_SXoisrIzr0dE
https://dl.doubtnut.com/l/_1r2NsRCQ3WOM


form. 

Watch Video Solution

51. Area the triangle similar? IF so, name the criterion

of similarity. Write the similarity relation in symbolic

https://dl.doubtnut.com/l/_1r2NsRCQ3WOM
https://dl.doubtnut.com/l/_FRmayIoXdMVz


form. 

Watch Video Solution

52. Area the triangle similar? IF so, name the criterion

of similarity. Write the similarity relation in symbolic

https://dl.doubtnut.com/l/_FRmayIoXdMVz
https://dl.doubtnut.com/l/_PNFDx9ftS9nD


form. 

Watch Video Solution

53. If pairs of the traingles are similar and then find

the value of x.

https://dl.doubtnut.com/l/_PNFDx9ftS9nD
https://dl.doubtnut.com/l/_jubb6NRcDYvj


Watch Video Solution

54. If pairs of the traingles are similar and then find

the value of x.

https://dl.doubtnut.com/l/_jubb6NRcDYvj
https://dl.doubtnut.com/l/_ClqNUu78nzZC


Watch Video Solution

55. If pairs of the traingles are similar and then find

the value of x.

https://dl.doubtnut.com/l/_ClqNUu78nzZC
https://dl.doubtnut.com/l/_UcKdMg895AQ0


Watch Video Solution

56. If pairs of the traingles are similar and then find

the value of x.

https://dl.doubtnut.com/l/_UcKdMg895AQ0
https://dl.doubtnut.com/l/_bT5K2cPpFcEq


Watch Video Solution

57. If pairs of the traingles are similar and then find

the value of x.

https://dl.doubtnut.com/l/_bT5K2cPpFcEq
https://dl.doubtnut.com/l/_VGIUT84xdF8P


Watch Video Solution

58. If pairs of the traingles are similar and then find

the value of x.

https://dl.doubtnut.com/l/_VGIUT84xdF8P
https://dl.doubtnut.com/l/_twNAtNGN4ZvV


Watch Video Solution

59. Discuss with your friends that in what way

similarity of traingles is different from similarity of

other polygons?

Watch Video Solution

60. In the given figure, 


Show that 


∠ADE = ∠B

tra ∈ g ≤ ABC~tra ∈ g ≤ ADE

https://dl.doubtnut.com/l/_twNAtNGN4ZvV
https://dl.doubtnut.com/l/_nKNToQNJ92iS
https://dl.doubtnut.com/l/_LM6VMMDWmGil


Watch Video Solution

61. In the given figure  


IF AD=3.8 cm, AE=3.6 cm, BE=2.1 cm, BC=4.2 cm, find DE. 

∠ADE = ∠B

https://dl.doubtnut.com/l/_LM6VMMDWmGil
https://dl.doubtnut.com/l/_Sr6qb4y11vA3


Watch Video Solution

62. The perimeters of two similar triangle are 30 cm

and 20 cm respectively. IF one side of the first Triangle

is 12 cm. determine the corresponding side of the

second Triangle.

Watch Video Solution

63. A girl of height 90 cm is walking away from the

base of a lamp-post at a speed of . IF the

lamp-post is 3.6 m above the ground, find the length

of her shadow after 4seconds.

1.2m/sec

https://dl.doubtnut.com/l/_Sr6qb4y11vA3
https://dl.doubtnut.com/l/_rOz5PjZ35MCL
https://dl.doubtnut.com/l/_62PsHmsJ7HZN


Watch Video Solution

64. Given that , CM and RN are

respectively the medians of similar triangles 

and . Prove that 


 ~ 


Watch Video Solution

△ ABC~ △ PQR

△ ABC

△ PQR

△ AMC △ PNR

https://dl.doubtnut.com/l/_62PsHmsJ7HZN
https://dl.doubtnut.com/l/_BS9X25gttbwZ


65. CM and RN are respectively the medians of similar

triangle  and . Prove that 






Watch Video Solution

ΔABC ΔPQR

=
CM

RN

AB

PQ

66. Given that , CM and RN are

respectively the medians of similar triangles 

and . Prove that 


△ ABC~ △ PQR

△ ABC

△ PQR

https://dl.doubtnut.com/l/_mBJzlnsRzJWf
https://dl.doubtnut.com/l/_y7WYy8pAVTxI


 ~ 


Watch Video Solution

△ CMB △ RNQ

67. Diagonals AC and BD of a trapezium ABCD with

 intersect each other at the point

'O'.Using the criterion of similarity for two tri-angles ,

show that .

Watch Video Solution

AB ∣ ∣ DC

=
OA

OC

OB

OD

https://dl.doubtnut.com/l/_y7WYy8pAVTxI
https://dl.doubtnut.com/l/_0Vx7TmXEOM5x
https://dl.doubtnut.com/l/_mIKFjK27BFBZ


68. AB,CD,PQ are perpendicular to BD. AB=x. CD=y and

PQ=z, prove that .

Watch Video Solution

+ =
1

x

1

y

1

z

69. A flag pole 4 cm tall casts a 6m, shadow. At the

same time , a nearby building casts a shadow of 24 m.

How tall is the building?

Watch Video Solution

70. CD and GH are respectively the bisectors of 

and  such that D and H lie on sides AB and FE

of  respectively. IF 

∠ACB

∠EGF

ΔABC and ΔFEG

https://dl.doubtnut.com/l/_mIKFjK27BFBZ
https://dl.doubtnut.com/l/_W4tKwi8alToG
https://dl.doubtnut.com/l/_0vU6qf5GQzYx


 then show that 


Watch Video Solution

ΔABC~ΔFEG

=
CD

GH

AC

FG

71. CD and GH are respectively the bisectors of 

and  such that D and H lie on sides AB and FE

of  respectively. IF 

 then show that 


Watch Video Solution

∠ACB

∠EGF

ΔABC and ΔFEG

ΔABC~ΔFEG

=
CD

GH

AC

FG

https://dl.doubtnut.com/l/_0vU6qf5GQzYx
https://dl.doubtnut.com/l/_1myKu7JQ0P3Q


72. CD and GH are respectively the bisectors of 

and  such that D and H lie on sides AB and FE

of  respectively. IF 

 then show that 


Watch Video Solution

∠ACB

∠EGF

ΔABC and ΔFEG

ΔABC~ΔFEG

=
CD

GH

AC

FG

73. AX and DY are altitudes of two similar triangle

 and . Prove that 

.

Watch Video Solution

ΔABC ΔDEF AX :DY = AB :DE

https://dl.doubtnut.com/l/_8qe5f9Rm6G1b
https://dl.doubtnut.com/l/_vD3o6g2HwhtM
https://dl.doubtnut.com/l/_Mn8HcMDmx301


74. Construct a Triangle of sides 4 cm, 5 cm and 6cm.

Then, construct a Triangle similar to it, whose sides

are  of the corresponding sides of the first

Triangle.

Watch Video Solution

2/3

75. Construct a Triangle of sides 4 cm, 5 cm and 6cm.

Then, construct a Triangle similar to it, whose sides

are  of the corresponding sides of the first

Triangle.

Watch Video Solution

2/3

https://dl.doubtnut.com/l/_Mn8HcMDmx301
https://dl.doubtnut.com/l/_qWQLpPfF7ahw
https://dl.doubtnut.com/l/_yX30ccj7ecW2


76. Construct is an isosceles Triangle whise base is 8

cm and altitude is 4 cm, Then, draw another Triangle

whose sides are  times the corresponding sides

of the isosceles Triangle.

Watch Video Solution

11 /2

77. Prove that if the area of two similar triangles are

equal, then they are congruent.

Watch Video Solution

https://dl.doubtnut.com/l/_yX30ccj7ecW2
https://dl.doubtnut.com/l/_uwuEcxxvPJcM


78.  and their areas are respectively

64  and 121 . IF EF=15.4 cm., then find BC.

Watch Video Solution

ΔABC~ΔDEF

cm2 cm2

79. Diagonals of a trapezium ABCD with .

Intersect each other at the point 'O'. IF AB=2CD, find

the ratio of areas of triangles AOB and COD.

Watch Video Solution

AB ∣ ∣ DC

80. Equilateral triangle are drawn on the three sides

of a right angled Triangle. Show that the area of the

https://dl.doubtnut.com/l/_PgKgSbfBeZbl
https://dl.doubtnut.com/l/_N2ZLpUjobT80
https://dl.doubtnut.com/l/_fc5QXRV81JFa


Triangle on the hypotenuse is equal to the sum of the

areas of triangle on the other two sides.

Watch Video Solution

81. Prove that the area of the equilateral Triangle

described on the side of a square is half the area of

the equilateral triangle described on its diagonal.

Watch Video Solution

82. D,E,F are midpoints of sides BC,CA,AB of .

Find the ratio of areas of  and .

Watch Video Solution

ΔABC

ΔDEF ΔABC

https://dl.doubtnut.com/l/_fc5QXRV81JFa
https://dl.doubtnut.com/l/_sCo8FPKuluX0
https://dl.doubtnut.com/l/_gGj3noz9h3aa


83. In  and XY divides the Triangle

into two parts of equal area. Find the ratio of .

Watch Video Solution

ΔABCXY ∣ ∣ AC

AX

XB

84. Prove that the ratio of areas of two similar triangle

is equal to the square of the ratio of their

corresponding medians.

Watch Video Solution

https://dl.doubtnut.com/l/_gGj3noz9h3aa
https://dl.doubtnut.com/l/_3j0xJvCZAVmq
https://dl.doubtnut.com/l/_VU2RAM6mRNJL


85.  ,BC=3cm, EF=4cm and area of 

= 54 . Determine the area of .

Watch Video Solution

ΔABC~ΔDEF

ΔABC cm2 ΔABC

86. ABC is a Triangle and PQ is a straight line meeting

AB in P and AC in Q. IF AP=1 cm and BP= 3cm, AQ=1..5

cm, CQ=4.5 cm. Prove that area of  (area

of ).

Watch Video Solution

ΔAPQ =
1

16

ΔABC

https://dl.doubtnut.com/l/_GGItsnOPAJnv
https://dl.doubtnut.com/l/_Ze4blSodXc9N


87. The areas of two similar triangle are  and 

 respectively. IF the altitude of the bigger

Triangle is 4.5 cm. Find the corresponding altitude of

the smaller Triangle. 

Watch Video Solution

81cm2

49cm2

88. A folder 25 m long reaches a window of building 20

m above the ground. Determine the distance of the

https://dl.doubtnut.com/l/_Uc4xaMNI22bS
https://dl.doubtnut.com/l/_LCRRx3v6otNu


foot of the ladder from the building.

Watch Video Solution

89. BL and CM are medians of a triangle ABC right

angled at A. Prove that .

Watch Video Solution

4(BL2 + CM 2) = 5BC 2

90. O' is any point inside a rectangle ABCD. 

Prove that 

Watch Video Solution

OB2 + OD2 = OA2 + OC 2

https://dl.doubtnut.com/l/_LCRRx3v6otNu
https://dl.doubtnut.com/l/_XEoFC0unruWg
https://dl.doubtnut.com/l/_0pOk8gnogKMt
https://dl.doubtnut.com/l/_a5aZhy4ZcTaN


91. The hypotenuse of a right Triangle is 6 m more

than twice of the shortest side. IF the third side is 2 m,

less than the hypotenuse, find the sides of the

Triangle.

Watch Video Solution

92. ABC is a right Triangle right angled at C. Let

BC=a,CA=b,AB=c and let p be the length of the

perpendicular fromt C on AB Prove that pc=ab

Watch Video Solution

https://dl.doubtnut.com/l/_a5aZhy4ZcTaN
https://dl.doubtnut.com/l/_YDAmytjB9Hwk


93. ABC is a right Triangle right angled at C. Let

BC=a,CA=b,AB=c and let p be the length of the

perpendicular fromt C on AB Prove that

.

Watch Video Solution

= +
1

p2

1

a2

1

b2

94. In ,  and . 


Prove that .


△ ACB ∠C = 90∘ CD ⊥ AB

B C 2 = B D
C 2

A

D

A

https://dl.doubtnut.com/l/_F7uKN3PHKuM8
https://dl.doubtnut.com/l/_r1vbWMtVWqPX


Watch Video Solution

95. A ladder 15 m long reaches a window which is 9 m

above the ground on one side of a street. Keeping its

foot at the same point, the ladder is turned to other

https://dl.doubtnut.com/l/_r1vbWMtVWqPX
https://dl.doubtnut.com/l/_17duv6bFQYKU


side of the street to reach a window 12 m high. Find

the width of the street.

Watch Video Solution

96. In the given fig. if , prove that 

.

Watch Video Solution

AD ⊥ BC

AB2 + CD2 = BD2 + AC 2

https://dl.doubtnut.com/l/_17duv6bFQYKU
https://dl.doubtnut.com/l/_kORjtNOlZc0L


97. For a right angled triangle with integer sides

atleast one of its measurements must be an even

number. Why?

Watch Video Solution

98. Prove that the sum of the squares of the sides of a

rhombus is equal to the sum of the squares of its

diagonals.

Watch Video Solution

https://dl.doubtnut.com/l/_xeAvMcePnQXw
https://dl.doubtnut.com/l/_qa1nJAwPD1RE


99. ABC is a right Triangle right angled at B.Let D and E

be any points on AB and BC respectively. Prove that

. 


W h Vid S l i

AE2 + CD2 = AC 2 + DE2

https://dl.doubtnut.com/l/_RTxFxCJ7BiyD


Watch Video Solution

100. Prove that three times the square of any side of

an equilateral Triangle is equal to four times the

square of the altitude.

Watch Video Solution

101. PQR is a Triangle right angled at P and M is a

point on QR such that . Show that PM ⊥ QR PM 2

https://dl.doubtnut.com/l/_RTxFxCJ7BiyD
https://dl.doubtnut.com/l/_tDccpO1SOMDw
https://dl.doubtnut.com/l/_PsaB9zycxE0H


=QM.MR. 

Watch Video Solution

https://dl.doubtnut.com/l/_PsaB9zycxE0H


102. ABD is a triangle right angled at A and 

. Show that i) 

Watch Video Solution

AC ⊥ BD

AB2 = BC ⋅ BD

103. ABD is a triangle right angled at A and 

. Show that i) 

AC ⊥ BD

AB2 = BC ⋅ BD

https://dl.doubtnut.com/l/_5pCMoczyw47R
https://dl.doubtnut.com/l/_Ivl0aUYMR3eJ


Watch Video Solution

104. ABD is a triangle right angled at A and 

. Show that i) 

AC ⊥ BD

AB2 = BC ⋅ BD

https://dl.doubtnut.com/l/_Ivl0aUYMR3eJ
https://dl.doubtnut.com/l/_GLiBHAHWa27C


Watch Video Solution

105. ABC is an isosceles Triangle right angled at C.

Prove that .

Watch Video Solution

AB2 = 2AC 2

https://dl.doubtnut.com/l/_GLiBHAHWa27C
https://dl.doubtnut.com/l/_OjynoZdNSe3r


106. O' is any point in the interior of a triangle ABC.

,  and , Show that 


Watch Video Solution

OD ⊥ BC OE ⊥ AC OF ⊥ AB

OA2 + OB2 + OC 2ñOD2ñOF 2 = AF 2 + BD2 + CE2

107. O' is any point in the interior of a triangle ABC.

,  and , Show that 
OD ⊥ BC OE ⊥ AC OF ⊥ AB

https://dl.doubtnut.com/l/_YyFnUijQsHf0
https://dl.doubtnut.com/l/_WvMDweQ4Vcmj


.


Watch Video Solution

AF 2 + BD2 + CE2 = AE2 + CD2 + BF 2

108. A wire attached to vertical pole of height 18m is

24m long and has a stake attached to the other end.

How far from the base of the pole should the stake be

driven so that the wire will be taut?

Watch Video Solution

https://dl.doubtnut.com/l/_WvMDweQ4Vcmj
https://dl.doubtnut.com/l/_f4HAmYkgYJtF


109. Two poles of heights 6m and 11 m stand on a

plane ground. IF the distance between the feet of the

poles is 12m, find the distance between their tops.

Watch Video Solution

110. In an equilateral Triangle ABC,D is a point on side

BC such that . Prove that 

.

Watch Video Solution

BD = BC
1

3
9AD2 = 7AB2

https://dl.doubtnut.com/l/_f4HAmYkgYJtF
https://dl.doubtnut.com/l/_0fUSSIbzI3ym
https://dl.doubtnut.com/l/_DJdIxiTa8RZs


111. In the given figure, ABC is a Triangle right angled

at B.D and E are points on BC trisect it. Prove that

. 

Watch Video Solution

8AE2 = 3AC 2 + 5AD2

https://dl.doubtnut.com/l/_R3ltfjYRUUVr


112. ABC is an isosceles triangle right angled at B.

Similar triangles ACD and ABE are constructed on

sides AC and AB. Find the ratio between the areas of

 and .

Watch Video Solution

△ ABE △ ACD

113. In the given figure, and .

Prove that .


R =
QT

P

QR

QS
∠1 = ∠2

△ PQS~ △ TQR

https://dl.doubtnut.com/l/_4pCUudEgyNkz
https://dl.doubtnut.com/l/_Ul0m7HCwc77E


Watch Video Solution

114. Ravi is  m tall. He wants to find the height of a

tree in his backyard, From the tree’s base he walked

 m along the tree’s shadow to a position where

the end of his shadow exactly overlaps the end of the

tree’s shadow. He is now  m from the end of the

1.82

12.20

6.10

https://dl.doubtnut.com/l/_Ul0m7HCwc77E
https://dl.doubtnut.com/l/_pOkW4uce40nq


shadow. How tall is the tree?

Watch Video Solution

115. The diagonal AC of a parallelogram ABCD

intersects DP at the point Q, where 'P' is any point on

side AB. Prove that .

Watch Video Solution

CQ × PQ = QA × QD

https://dl.doubtnut.com/l/_pOkW4uce40nq
https://dl.doubtnut.com/l/_F3eIem9ssO0w


116. are two right

triangles right angled at B and M respectively. 

Prove that 

 


Watch Video Solution

△ ABC~tra ∈ g ≤ AMP

△ ABC~ △ AMP

https://dl.doubtnut.com/l/_HFN3Hnv35q4q


117. are two right triangles

right angled at B and M respectively. 

Prove that 




Watch Video Solution

△ ABC~tra ∈ g ≤ AMP

C A = B P
A

P

C

M

https://dl.doubtnut.com/l/_3ZV4xyQNjhH1


118. An aeroplane leaves an airport and flies due north

at a speed of 1000 kmph. At the same time another

aeroplane leaves the same airport and flies due west

at a speed of 1200 kmph. How far apart will the two

planes be after  hour?

Watch Video Solution

1
1

2

119. In a right Triangle ABC right angled at C.P and Q

are points on sides AC and CB respectively which

divide these sides in the ratio of 2:1. Prove that 

Watch Video Solution

9AQ2 = 9AC 2 + 4BC 2

https://dl.doubtnut.com/l/_j3qqQSBD1b9F
https://dl.doubtnut.com/l/_nk2GJiYLrVf3


120. In a right Triangle ABC right angled at C.P and Q

are points on sides AC and CB respectively which

divide these sides in the ratio of 2:1. Prove that 

Watch Video Solution

9BP 2 = 9BC 2 + 4AC 2

121. In a right Triangle ABC right angled at C.P and Q

are points on sides AC and CB respectively which

divide these sides in the ratio of 2:1. Prove that 

Watch Video Solution

9(AQ2 + BP 2) = 13AB2

https://dl.doubtnut.com/l/_nk2GJiYLrVf3
https://dl.doubtnut.com/l/_5wLt3eJ4O9Fs
https://dl.doubtnut.com/l/_eQ8dFdel0Tws


122. In a ,  and . If

BC = 5.6cm, find DE.

A. `

B. 

C. 

D. 

Answer:

Watch Video Solution

△ ABC DE ∣ ∣ BC AD = BD
1

3

https://dl.doubtnut.com/l/_q3Pk7kdJ8qLU


123. In the adjacent figures  ~ . If

AK = 8cm, BC = 4.5cm and HK = 9cm 

find AC.

Watch Video Solution

△ ABC △ AHK

124. In the below given figure P and Q are points on

the sides AB and AC respectively of  such

that AQ = 3cm, QC= 5cm and . Find the

△ ABC

PQ ∣ ∣ BC

https://dl.doubtnut.com/l/_zT8LugMusqzZ
https://dl.doubtnut.com/l/_mNvCzsWB4dXP


ratio of areas  and .


Watch Video Solution

tra ∈ g ≤ APQ △ ABC

125. What value of (5) of  will make , in

the given figure?

, 


x DE ∣ ∣ AB

AD = 5x + 5 CD = x + 2

https://dl.doubtnut.com/l/_mNvCzsWB4dXP
https://dl.doubtnut.com/l/_XRLNzPOnW3Dz


,  


Watch Video Solution

BE = 3x + 3 CE = x

126.  ~  and their areas are

respectively  and .


If QR = 16 cm then find BC.

Watch Video Solution

△ ABC △ PQR

81cm2 144cm2

https://dl.doubtnut.com/l/_XRLNzPOnW3Dz
https://dl.doubtnut.com/l/_sCtYyyt8THIV
https://dl.doubtnut.com/l/_KDKtr4rqFdmP


127.  ~ , BC = 5 cm, EF = 6cm and

area of  = . Determine the area of 

Watch Video Solution

△ ABC △ DEF

△ DEF 72cm2

△ ABC

128. A ladder 13cm long reaches a windown of building

12cm above the ground. Determine the distance of the

foot of the ladder from the building.

Watch Video Solution

https://dl.doubtnut.com/l/_KDKtr4rqFdmP
https://dl.doubtnut.com/l/_jy9f3mvE6rT9


129. The hypotenuse of a right angled triangle is 3 m

more than twice of the shortest side. If the third side

is 1 m less than the hypotenuse find the sides of the

triangle.

Watch Video Solution

130. A ladder 25 m long reaches a window which is 15

m above the ground an one side of the road. Keeping

its foot at the same point, the ladder is turned to

other side of the road to reach a window 20 m high.

Find the width of the road.

Watch Video Solution

https://dl.doubtnut.com/l/_lz15sJc3BAa4
https://dl.doubtnut.com/l/_9b0NfoPesE18


131. In the given figure below, If , 


prove that  = .


Watch Video Solution

AD ⊥ BC

AB2 + CD2 AC 2 + BD2

132. In an equilateral triangle ABC, if AD is the altitude

prove that  = .

Watch Video Solution

3AB2 4AD2

https://dl.doubtnut.com/l/_9b0NfoPesE18
https://dl.doubtnut.com/l/_oSjF8tDSO0Yf
https://dl.doubtnut.com/l/_umFj2XFqLTFA


133. A wire attached to a vertical pole of height 15 m is

25 m long and has a stake attached to the other end.

How far from the base of the pole should the stake be

driven so that the wire will be taut?

Watch Video Solution

134. The larger of two complimentary angles is double

the smaller. Find the angles.

Watch Video Solution

https://dl.doubtnut.com/l/_szKgTdyna3v0
https://dl.doubtnut.com/l/_VIp6NZJ1KfYN


135. In ,  and . If AE =

2.1cm, then find AC.

Watch Video Solution

△ ABC DE ∣ ∣ BC =
AD

DB

3

5

136. What can you say about the ratio of areas of two

similar triangles?

Watch Video Solution

137. Construct is an isosceles Triangle whise base is 8

cm and altitude is 4 cm, Then, draw another Triangle

https://dl.doubtnut.com/l/_WASAAMoH5RAq
https://dl.doubtnut.com/l/_glruvdYTZrDV
https://dl.doubtnut.com/l/_oug0nzOZaCwR


whose sides are  times the corresponding sides

of the isosceles Triangle.

Watch Video Solution

11 /2

138. Give two different examples of pair of i) Similar

figures

Watch Video Solution

139.  and their areas are respectively

64  and 121 . IF EF=15.4 cm., then find BC.

Watch Video Solution

ΔABC~ΔDEF

cm2 cm2

https://dl.doubtnut.com/l/_oug0nzOZaCwR
https://dl.doubtnut.com/l/_vFcIu8Isnr1Z
https://dl.doubtnut.com/l/_QvWNaObXtEXk


140. In ABC,  and ' AC=5.6.

Find AE.

Watch Video Solution

Δ DE ∣ ∣ BC =
AD

DB

3

5

141. State and prove basic Proportional theorem.

Watch Video Solution

142. Construct a Triangle of sides 4 cm, 5 cm and 6cm.

Then, construct a Triangle similar to it, whose sides

are  of the corresponding sides of the first

Triangle.

2/3

https://dl.doubtnut.com/l/_NQllIPl3o03N
https://dl.doubtnut.com/l/_paypytk928AS
https://dl.doubtnut.com/l/_L6qhq8Zbi5Mo


Watch Video Solution

143. Construct a Triangle of sides 4.2cm, 5.1 cm and 6

cm. Then construct a Triangle similar to it, whose sides

are  of corresponding sides of the first triangle.

Watch Video Solution

2/3

144. Is a square similar to a rectangle? Justify your

answer.

Watch Video Solution

https://dl.doubtnut.com/l/_L6qhq8Zbi5Mo
https://dl.doubtnut.com/l/_sGegcWzWK8zx
https://dl.doubtnut.com/l/_B2xDsPkTUU3S


145. In a , A, B and C are mid points of EF,FD

and DE respectively. IF the area of  is 14.4 

then find the area of .

Watch Video Solution

ΔDEF

ΔDEF cm2

ΔABC

146. Observe the below diagram and find the values of

x and y. 

https://dl.doubtnut.com/l/_nFNJfOkIhyYl
https://dl.doubtnut.com/l/_m5RnjZuGfQGS


Watch Video Solution

147. Observe the figure given below in  if 

,  and QR = 7.2. Then find the

length of RY.

Watch Video Solution

△ PQR

XY /PQ =
PX

XR

5

3

https://dl.doubtnut.com/l/_m5RnjZuGfQGS
https://dl.doubtnut.com/l/_RNXB2Usu8a2d


148. Find the value of 'x' in the given figure where

~ .


Watch Video Solution

△ ABC △ ADE

149. Construct a triangle of sides 5 cm, 6 cm and 7cm

then construct a triangle similar to it, whose sides are

https://dl.doubtnut.com/l/_9ztcyZmdyuEr
https://dl.doubtnut.com/l/_RLcWSPb7AcgU


 of a corresponding sides of the triangle.

Watch Video Solution

2/3

150. In the figure ,  and

KN=20.4 cm then KQ= ……………….cm. 

Watch Video Solution

PQ/MN, =
KP

PM

4

13

https://dl.doubtnut.com/l/_RLcWSPb7AcgU
https://dl.doubtnut.com/l/_NJIgxjLy12bu


151. If  ~  if 

area of triangle DEF = 44 sq.unitsthen find the area of

.

Watch Video Solution

△ ABC △ DEF DE :AB = 2: 3 and

△ ABC

152. Side of a rhombus is 4 cm then its perimeter

is…………….cm.

Watch Video Solution

153. IF  then k=…………..

Watch Video Solution

82 + 152 = k2

https://dl.doubtnut.com/l/_N4OUxfkGnwbr
https://dl.doubtnut.com/l/_FyGs23lnOBAm
https://dl.doubtnut.com/l/_V5pPwwWIsJnu


154.  and 2AB=DE and BC=8cm then

EF=……..cm.

Watch Video Solution

ΔABC~ΔDEF

155. , BC=4cm, EF=5cm and area of 

 then area of =…………

Watch Video Solution

ΔABC~ΔDEF

ΔABC = 80cm2 ΔDEF cm2

156. In the figure, in , , 

and  cm then  ………… cm.

△ PQR QR/ /ST =
PS

SQ

3

5

PR = 28 PT =

https://dl.doubtnut.com/l/_V5pPwwWIsJnu
https://dl.doubtnut.com/l/_2fHwW1UKpCRL
https://dl.doubtnut.com/l/_9RYapPQE2xUr
https://dl.doubtnut.com/l/_movZfpoEyWRR


Watch Video Solution

157. If  then find the value of x.

Watch Video Solution

2x+ 1 = 31 −x

https://dl.doubtnut.com/l/_movZfpoEyWRR
https://dl.doubtnut.com/l/_yddL3jtkMOUV


158. The angles of a triangle arc in the ratio 1:2:3 then

the largest angle is………….

Watch Video Solution

159. In the Right angle triangle , AB = 20, AC =

25 then find the value of BC.

Watch Video Solution

△ ABC

160. In the  , 




then find the value of .

△ ABC~ △ DEF ∠C = 90∞

B = 75∞

∠F

https://dl.doubtnut.com/l/_8SDGGh7wo3mv
https://dl.doubtnut.com/l/_7enoo2TzUp6K
https://dl.doubtnut.com/l/_0z0ZWzlmzYCs


Watch Video Solution

161.  if AB = 6, BC = 4, AC = 8 and PR

= 6 then find the PQ + QR.

Watch Video Solution

△ ABC~ △ PQR

162. In the rhombus ABCD, AB = 6 cm, then find

.

Watch Video Solution

AC 2 + BD2

https://dl.doubtnut.com/l/_0z0ZWzlmzYCs
https://dl.doubtnut.com/l/_Jjd7NxWxHE3Z
https://dl.doubtnut.com/l/_6d5xy9o99uDE


163. If ,  then find  +

Watch Video Solution

△ ABC~ △ DEF ∠ = 50∘ ∠E

∠F

164.  if AB = 3.6, PQ = 2.4 and PR =

5.4 then find the AC.

Watch Video Solution

△ ABC~ △ PQR

165. If  if  and 

then find the angle of .

Watch Video Solution

△ ABC~ △ PQR ∠A = 50 ∠B = 60

∠R

https://dl.doubtnut.com/l/_Bss2NFhwqqLp
https://dl.doubtnut.com/l/_zegOd6uh01Lj
https://dl.doubtnut.com/l/_KfryP4kx0R3v


166. A man goes 40m due East and then 96m due

North. Find the distance from the starting point.

Watch Video Solution

167. In , , AC = 6 cm, BC = 8 cm. then

find the length of the median through C.

Watch Video Solution

△ ABC ∠C = 90

168. If , AC = 13 cm. then find the length of the

median BD.

△ ABC

https://dl.doubtnut.com/l/_KfryP4kx0R3v
https://dl.doubtnut.com/l/_3MN0HshI89va
https://dl.doubtnut.com/l/_X718anEYvzvL
https://dl.doubtnut.com/l/_6Akr2xoH2FD9


Exercise

Watch Video Solution

169. The length of the diagonal of a square is .

Then find the area of the square.

Watch Video Solution

5√2cm

1. In ,  and .


If BC = 4.5cm, Find DE.

△ ABC DE ∣ ∣ BC AD = BD
1

3

https://dl.doubtnut.com/l/_6Akr2xoH2FD9
https://dl.doubtnut.com/l/_L5qdznZOnFiG
https://dl.doubtnut.com/l/_dfG10bQ4PyMR


Watch Video Solution

2. In the adjacent figure .


If AK = 10cm, BC = 3.5cm and HK = 7cm,

find AC.

△ AHK~ △ ABC

https://dl.doubtnut.com/l/_dfG10bQ4PyMR
https://dl.doubtnut.com/l/_FrO97S8F3EFf


Watch Video Solution

3. In the adjacent figures, S and T are points on the

sides PQ and PR respectively of  such that PT

= 2cm, TR = 4cm and . Find the ratio of the

areas of  and .


Watch Video Solution

△ PQR

ST ∣ ∣ QR

△ PST △ PQR

https://dl.doubtnut.com/l/_FrO97S8F3EFf
https://dl.doubtnut.com/l/_Z68NZjYMROaD
https://dl.doubtnut.com/l/_GtcSPY4Svv1c


4. In the adjacent figure,  = . Prove that  = 

 and  = .


Watch Video Solution

OA

OC

OD

BC
∠A

an ≥ lC ∠B ∠D

5. In the adjacent figure, if  ~ , prove

that .


△ PQS △ ROQ

PS ∣ ∣ QR

https://dl.doubtnut.com/l/_GtcSPY4Svv1c
https://dl.doubtnut.com/l/_lik23mqitMrB


Watch Video Solution

6. In the adjacent figure, QA and PB are perpendiculars

to AB. IF AO= 10cm, BO = 6cm and 

PB= 9cm. Find AQ 

Watch Video Solution

7. In the adjacent figure  and . 


If AC = 4.8cm,

DE ∣ ∣ BC =
AD

DB

3

5

https://dl.doubtnut.com/l/_lik23mqitMrB
https://dl.doubtnut.com/l/_NMGenFgRGx9O
https://dl.doubtnut.com/l/_LWImQ7GmdUf8


find AE.

Watch Video Solution

8. P and Q are points on sides AB and AC respectively

of .


If AP = 4cm, PB= 8cm, AQ = 3cm and QC =6cm, 

△ ABC

https://dl.doubtnut.com/l/_LWImQ7GmdUf8
https://dl.doubtnut.com/l/_H92jCI2bftWi


show that BC = 3PQ.

Watch Video Solution

9. Prove that if the area of two similar triangles are

equal, then they are congruent.

Watch Video Solution

https://dl.doubtnut.com/l/_H92jCI2bftWi
https://dl.doubtnut.com/l/_C0gjXTOiLLTB


10. In the trapezium ABCD,  and AB = 2CD. If

the area of , 


find the area of .

Watch Video Solution

AB ∣ ∣ CD

△ AOB = 84cm2

△ COD

11. D,E,F are the mid points of the sides BC, CA and AB

respectively of a . Determine the ratio of the

areas of  and .

Watch Video Solution

△ ABC

△ DEF △ ABC

https://dl.doubtnut.com/l/_ZJb2yWmdcde5
https://dl.doubtnut.com/l/_AqHlNwS3FqvO


12. If two triangles are equiangular, prove that the

ratio of the corresponding sides is same as the ratio

of the corresponding medians.

Watch Video Solution

13. If two traingles are equilatangular prove that the

ratio of the corresponding sides is same as the ratio

of the corresponding altitudes.

Watch Video Solution

https://dl.doubtnut.com/l/_OnoKk4yycprI
https://dl.doubtnut.com/l/_JZ3fyt2eHj5r


14. In the adjacent figure,  and  are

on the same base BC. If AD and BC intersect at O,

Prove that 


Watch Video Solution

△ ABC △ DBC

=
areaof △ ABC

areaof △ DBC

AO

DO

15. The areas of two similar triangles ABC and PQR are

in the ratio 9 : 16. If BC = 4.5cm. Find the length of QR.

https://dl.doubtnut.com/l/_nDIGV2o6ZUJX
https://dl.doubtnut.com/l/_nI14GAi1sIpN


Watch Video Solution

16. In the following a, b and c denote the lenghts of

the sides of a triangle. Determine whether the triangle

is a right triangle or not in each case.

a = 3cm, b= 4cm, c = 6cm.

Watch Video Solution

17. In the following a, b and c denote the lenghts of

the sides of a triangle. Determine whether the triangle

is a right triangle or not in each case.

a = 7cm, b= 12, c = 5cm

W h Vid S l i

https://dl.doubtnut.com/l/_nI14GAi1sIpN
https://dl.doubtnut.com/l/_hqs5869helYB
https://dl.doubtnut.com/l/_UAgVysJoU5Jy


Watch Video Solution

18. In the following a, b and c denote the lenghts of

the sides of a triangle. Determine whether the triangle

is a right triangle or not in each case.

a = 8cm, b = 17 cm, c = 15cm

Watch Video Solution

19. In the following a, b and c denote the lenghts of

the sides of a triangle. Determine whether the triangle

is a right triangle or not in each case.

a = 9cm, b = 41cm, c = 40cm

Watch Video Solution

https://dl.doubtnut.com/l/_UAgVysJoU5Jy
https://dl.doubtnut.com/l/_71VW8PqqpJg2
https://dl.doubtnut.com/l/_hlmiRt4ltoGk


Watch Video Solution

20. Two poles of heights 23m and 30m stand on the

plane ground. If the distance between their feet is

24m, find the distance between their tops.

Watch Video Solution

21. Prove that three times the square of any side of an

equilateral Triangle is equal to four times the square

of the altitude.

Watch Video Solution

https://dl.doubtnut.com/l/_hlmiRt4ltoGk
https://dl.doubtnut.com/l/_MiLTGAg0CuxU
https://dl.doubtnut.com/l/_gkn8ZbotaD3G


22. A man goes 40m due East and then 96m due

North. Find the distance from the starting point.

Watch Video Solution

23. A ladder 26m, long reaches a window of a house

24m above the ground. Determine the distance of the

foot of the ladder from the house.

Watch Video Solution

24. In a quadrilateral ABCD, , 


=  +  + . Prove that .

∠B = 900

AD2 AB2 BC 2 CD2 ∠ACD = 900

https://dl.doubtnut.com/l/_8XLTo3Rklys6
https://dl.doubtnut.com/l/_ZwMSy0MJfahj
https://dl.doubtnut.com/l/_h5ycJxjGmeEW


Watch Video Solution

25. In the adjacent figure, ABC is a triangle in which

 <  and . Prove that 


 =  + .


Watch Video Solution

∠ABC ∠90 AD ⊥ BC

AC 2 AB2 BC 2 − 2BC. BD

https://dl.doubtnut.com/l/_h5ycJxjGmeEW
https://dl.doubtnut.com/l/_gUTa7msPttf1


26. In , , D is the mid point of BC, 


Prove that  = .

Watch Video Solution

△ ABC ∠C = ∠90

AB2 4AD2 − 3AC 2

27. Determine whether the triangle having sides

, and . Is a right angled

triangle.

Watch Video Solution

(a − 1)cm 2√acm (a + 1)cm

28. In an equilateral triangle ABC, AD BC meeting

BC in D then =…………..

⊥

AD2

https://dl.doubtnut.com/l/_IHC378q3sz2L
https://dl.doubtnut.com/l/_CWIglw0Z0oM5
https://dl.doubtnut.com/l/_ZyMPPZFGAYHV


Watch Video Solution

29. In a paralledogram, the sum of the square of the

lengths of the diagonals is equal to sum of the

squares of the lengths of its sides.

Watch Video Solution

https://dl.doubtnut.com/l/_ZyMPPZFGAYHV
https://dl.doubtnut.com/l/_zMD1ow7fqll2


30. From the figure  


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

∠DAC

35∘

55∘

45∘

60∘

https://dl.doubtnut.com/l/_QFWbzZ7e1wMb


Watch Video Solution

31. The ratio of the corresponding sides of two similar

triangles is 5:3. Then the ratio of their areas………..

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

5: 3

3: 5

6: 10

25: 9

https://dl.doubtnut.com/l/_QFWbzZ7e1wMb
https://dl.doubtnut.com/l/_qTXeGalQCUcD


32. If  ~ 

area triangle

ABC = 80  then =

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

△ ABC

△ DEF , BC = 4cm, EF = 5cm and

cm2 area △ DEF

100cm2

150cm2

125cm2

225cm2

https://dl.doubtnut.com/l/_FHpdFN7LxnHQ


33. In the figure,  and AD:DB=1:2 then area

=

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

DE/BC

ΔADE : ΔABC

1: 4

4: 1

1: 9

2: 9

https://dl.doubtnut.com/l/_pfBu8Y9YMuCl


34. , M is the midpoint of BC and N is

the midpoint of QR. IF  and 

 and AM=4 cm, then PN=

A. 5 cm

B. 4.8 cm

C. 4 cm

D. 3.8 cm

Answer:

Watch Video Solution

ΔABC~ΔPQR

ΔABC = 100cm2

ΔPQR = 144cm2

https://dl.doubtnut.com/l/_lTLdjXXLtSos


35. In cm, PR=12cm and QR=6cm ,

then =

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

ΔPQR, PQ = 6√3

∠Q

30∘

45∘

90∘

60∘

https://dl.doubtnut.com/l/_eVh0ZvOcVy2r


36. The lengths of diagonals of a rhombus are 24 cm

and 32 cm, then the perimeter of the rhombus

is……..cm.

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

180∘

120∘

220∘

112∘

https://dl.doubtnut.com/l/_zJjE8wJgwuqT


37. Which of the following does not belongs to side of

the right triangle?

A. 9 cm, 15 cm, 12cm

B. 9 cm, 5 cm, 7cm

C. 400 mm, 300 mm, 500 mm

D. 2 cm, , 1 cm

Answer:

Watch Video Solution

√5cm

https://dl.doubtnut.com/l/_hoP60iXm8Qhg


38. In an isosceles ,PR=QR and ,

then =

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

ΔPQR PQ2 = 2PR2

∠R

60∘

30∘

90∘

45∘

https://dl.doubtnut.com/l/_bALDHAHXuzI9


39. In  the midpoints are D,E and F of the sides

AB,BC and CA, then  is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

ΔABC

ΔDEF : ΔABC

1: 1

1: 3

1: 2

1: 4

https://dl.doubtnut.com/l/_3svRZ4Weqx4y


40. If the diagonal of a square is  cm, then its area

is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

7√2

28cm2

14√2cm2

21cm2

49cm2

https://dl.doubtnut.com/l/_3NsY4qusMHVn


41. In the figure AB = 2.5 cm, AC = 3.5 cm. If AD is the

bisector of  then BD : DC 


A. 

B. 

C. 

D. 

∠BAC

5: 3

3: 5

5: 7

2: 7

https://dl.doubtnut.com/l/_VbX0e6Z2twjX


Answer:

Watch Video Solution

42. In the figure DE divides AB and AC in the ratio 

If DE = 2.4 cm then BC 

A. 4.8 cm

1: 3

https://dl.doubtnut.com/l/_VbX0e6Z2twjX
https://dl.doubtnut.com/l/_KIqswsHCRb4G


B. 7.2 cm

C. 9.6 cm

D. 12 cm

Answer:

Watch Video Solution

43. The height of an equilateral triangle whose side is

a units is

A. a / 2

B. 

C. 

a
√3

2

√3a

https://dl.doubtnut.com/l/_KIqswsHCRb4G
https://dl.doubtnut.com/l/_0S4eiwlbrShF


D. 

Answer:

Watch Video Solution

a
√3

4

44. If  ~ ,  

then  =

A. 

B. 

C. 

D. 

△ ABC △ XYZ ∠C = 60∘ ∠B = 75∘

∠Z

90∘

75∘

45∘

60∘

https://dl.doubtnut.com/l/_0S4eiwlbrShF
https://dl.doubtnut.com/l/_RKb8TtefuaU9


Answer:

Watch Video Solution

45. The maximum nuber of possible tangents that can

be draw to a circle is ……..

A. Infinity

B. 4

C. 100

D. 2

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_RKb8TtefuaU9
https://dl.doubtnut.com/l/_gAAcxaUjwKBw


Watch Video Solution

46.  ~  and areas of , 

 are  and  then the ratio of

corresponding sides.

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

△ ABC △ DEF △ ABC

△ DEF 64cm2 121cm2

11: 8

8: 11

3: 11

19: 8

https://dl.doubtnut.com/l/_gAAcxaUjwKBw
https://dl.doubtnut.com/l/_t6W0CFqBrilT
https://dl.doubtnut.com/l/_rT16BJcTP0QW


47. Area of a regular hexagon whose side is 'a' cm

is……………

A. 

B. )

C. 

D. 

Answer:

Watch Video Solution

6( a2)
√3

4

(6 a2√3

4

√6( a2)
3

4

6( a2)
√3

4

https://dl.doubtnut.com/l/_rT16BJcTP0QW


48. IF a man walks 6m to East and 8m to North. Now

he is at a distance of …………….from origin point.

A. 10 cm

B. 48 cm

C. 14 cm

D. 2 m

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_nf7CdUDIJeV9


49.  in the given figure is………..


A. 

B. 

C. 

D. 

Answer:

∠CAD

50∘

60∘

40∘

90∘

https://dl.doubtnut.com/l/_8F2JOT8cmRMR


Watch Video Solution

50. Example for the sides of a Right angled triangle

is………….

A. 5, 6, 9

B. 5, 12, 13

C. 5, 11, 12

D. 7, 8, 9

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_8F2JOT8cmRMR
https://dl.doubtnut.com/l/_W0agNRarbusW
https://dl.doubtnut.com/l/_p7lbseCs8VG4


51. Height of an equilateral triangle whose sides is 'a'

cm is ………..

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

a
√3

2

a22

√3

√ a
3

2

a2√3

2

52. In  ~ ,  

then `angle X = …..

△ ABC △ XYZ ∠C = 60∘ ∠B = 70∘

https://dl.doubtnut.com/l/_p7lbseCs8VG4
https://dl.doubtnut.com/l/_Jf2qN21u39Nl


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

∠X = 70∘

∠X = 50∘

∠X = 60∘

∠X = 10∘

53. When we construct a triangle similar to a given

triangle as per given scale factor, we construct on the

basis of ………

A. SSS similarity

https://dl.doubtnut.com/l/_Jf2qN21u39Nl
https://dl.doubtnut.com/l/_7ddbn8IeZo9O


B. AAA similarity

C. Basic proportionality theorem

D. A and C are correct

Answer:

Watch Video Solution

54.  ~  is given then which of the

following is correct.

A. 

△ ABC △ DEF

https://dl.doubtnut.com/l/_7ddbn8IeZo9O
https://dl.doubtnut.com/l/_qlI3473GudSa


B. 

C. 

D. 

Answer:

Watch Video Solution

55. In , BC=a, AB=c, AC=b and 'p' is

length of height drawn from 'C' to AB then ………….is

correct.

ΔABC∠C = 90∘

https://dl.doubtnut.com/l/_qlI3473GudSa
https://dl.doubtnut.com/l/_rzXSLbr0ekLT


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

= −
1

p2

1

a2

1

b2

= −
1

p2

1

b2

1

a2

= +
1

p2

1

a2

1

b2

= +
2

p2

1

a2

1

b2

https://dl.doubtnut.com/l/_rzXSLbr0ekLT


56. From the figure, x =………

A. 10

B. 15

C. 12

D. 25

Answer:

h id l i

https://dl.doubtnut.com/l/_jEdukcXi8jtt


Watch Video Solution

57. In the given figure, DE//BC and AD : DB = 5 : 4, then

=


A. 81/25

B. 44325

C. 44320

△ DEF

△ CFB

https://dl.doubtnut.com/l/_jEdukcXi8jtt
https://dl.doubtnut.com/l/_3r8e8CFCdoe4


D. 25/81

Answer:

Watch Video Solution

58. In the figure,  is an isosceles triangle right

angled at B. Two equilateral triangles are constructed

with sides AC and BC. Then = 


ΔABC

ΔBCD

https://dl.doubtnut.com/l/_3r8e8CFCdoe4
https://dl.doubtnut.com/l/_LSf8krIYa03J


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

△ ACE

△ ABC

( △ ABC)
1

2

( △ ACE)
1

2

59. In te figure  and  are two

triangles on the same base QR. If PS intersects QR at

△ PQR △ SQR

https://dl.doubtnut.com/l/_LSf8krIYa03J
https://dl.doubtnut.com/l/_m7uyzxwdVEXI


'O' then  : =


A. PO : SO

B. PQ : QS

C. PR : SR

D. PQ : SR

Answer:

Watch Video Solution

△ PQR △ SQR

https://dl.doubtnut.com/l/_m7uyzxwdVEXI


60. In the figure,  = , AB = 3.4 cm, BD = 4

cm, BC = 10 cm, then AC =

A. 5.1 cm

B. 3.4 cm

C. 6 cm

D. 5.3 cm

Answer:

∠BAD ∠CAD

https://dl.doubtnut.com/l/_m7uyzxwdVEXI
https://dl.doubtnut.com/l/_mZAbksrCYGSx


Watch Video Solution

61. All………….triangles similar.

A. equilateral

B. scalene

C. isosceles

D. none

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_mZAbksrCYGSx
https://dl.doubtnut.com/l/_oh6OUUPWz87Q


62. Two polygons are similar if……..

A. corresponding angles are equal

B. corresponding sides are equal

C. both A & B

D. none

Answer:

Watch Video Solution

63. The ratio of areas of two similar triangles is equal

to the ratio of the squares of corresponding…….

https://dl.doubtnut.com/l/_levGFiQbLLww
https://dl.doubtnut.com/l/_yyEMhwp3NQMv


A. sides

B. areas

C. angles

D. none

Answer:

Watch Video Solution

64. A perpendicular is drawn from the vertex of a right

angle to the hypotenuse then the triangles on each

side of the perpendicular are…….

A. similar

https://dl.doubtnut.com/l/_yyEMhwp3NQMv
https://dl.doubtnut.com/l/_KqLQzUnN8mKo


B. not similar

C. square

D. none

Answer:

Watch Video Solution

65. IF one angle of a triangle is equal to one angle of

another triangle and the sides including these angles

are proportional, the two triangles are similar. This

property is……….

A. SSS

https://dl.doubtnut.com/l/_KqLQzUnN8mKo
https://dl.doubtnut.com/l/_mzRFXUQhS7vq


B. ASA

C. AAA

D. SAS

Answer:

Watch Video Solution

66. IF the sides of two similar triangles are in the ratio

 then the ratio of their areas is………..

A. 

B. 

C. 

7: 2

9: 2

8: 9

4: 49

https://dl.doubtnut.com/l/_mzRFXUQhS7vq
https://dl.doubtnut.com/l/_rK5QX7iGMAPm


D. 

Answer:

Watch Video Solution

49: 4

67.  ~ , ,  then

`angle B = ………..

A. 

B. 

C. 

D. none

△ ABC △ PQR ∠A = 32∘ ∠R = 65∘

64∘

73∘

83∘

https://dl.doubtnut.com/l/_rK5QX7iGMAPm
https://dl.doubtnut.com/l/_StM8t13G0K2r


Answer:

Watch Video Solution

68. 

If  ~  then y + z =…..

A. 

B. 

C. 

D. 

△ ABC △ PQR

1 + 3√3

4 + 3√3

3√3 + 7

9 + √3

https://dl.doubtnut.com/l/_StM8t13G0K2r
https://dl.doubtnut.com/l/_ZdTNQvso7CCI


Answer:

Watch Video Solution

69. In , ,  and 

 ~  then  = ……….

A. 

B. 

C. 

D. none

Answer:

Watch Video Solution

△ LMN ∠L = 60∘ ∠M = 50∘

△ LMN △ PQR ∠R

70∘

80∘

90∘

https://dl.doubtnut.com/l/_ZdTNQvso7CCI
https://dl.doubtnut.com/l/_jFklURGHkEi8


Watch Video Solution

70. The perimeter of  are 60 cm and

48 cm of LM=8cm then AB=……….cm.

A. 19

B. 11

C. 7

D. 10

Answer:

Watch Video Solution

ΔABC~ΔLMN

https://dl.doubtnut.com/l/_jFklURGHkEi8
https://dl.doubtnut.com/l/_IHq7CpvUvYKv


71. IN  then………..is the

right angle.

A. 

B. 

C. 

D. none

Answer:

Watch Video Solution

ΔABC, BC 2 + AB2 = AC 2

∠B

∠A

∠C

https://dl.doubtnut.com/l/_vvq2oVaFghqC


72. The bisector of  of  intersects BC at D. IF

BD:DC=4:7 and AC=3.5. Then AB=…………..

A. 2

B. 8

C. 10

D. 11

Answer:

Watch Video Solution

∠A ΔABC

https://dl.doubtnut.com/l/_5x9eYciNMiZS


73.  ~ ,  then  + 

=……….

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

△ ABC △ PQR ∠A = 50∘ ∠Q ∠R

120∘

110∘

130∘

180∘

https://dl.doubtnut.com/l/_GvmMhP4SDqoo


74. In the figure, CD = …………….cm.

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

√3

2√3

3√3

6√3

https://dl.doubtnut.com/l/_nLbfWdH9qG6h


75. The ratio of corresponding sides of two similar

triangles is 3:2 then the ratio of their corresponding

heights is…………..

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

3: 2

2: 3

1: 4

1: 7

https://dl.doubtnut.com/l/_nLbfWdH9qG6h
https://dl.doubtnut.com/l/_qnojBBoybZtY
https://dl.doubtnut.com/l/_TSuogDCUppPb


76. In the figure,  = ………


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

∠ABC

30∘

70∘

50∘

60∘

https://dl.doubtnut.com/l/_TSuogDCUppPb
https://dl.doubtnut.com/l/_AJh8Hfw9lscM


77. In , XY || BC, AX : XB = 2 : 1 then 

 : triangle ABC`= …….

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

△ ABC

trianl ≥ AXY

9: 4

4: 9

1: 9

2: 3

78. In a square, the diagonal is…………..times of its side.

https://dl.doubtnut.com/l/_AJh8Hfw9lscM
https://dl.doubtnut.com/l/_osNGFpp5yGLr


A. 

B. 

C. 

D. 2

Answer:

Watch Video Solution

√7

√3

√2

79. The side of an equilateral triangle is 'a' units . Its

height is…………units.

A. 

B. 

√3a

2

a
√3

4

https://dl.doubtnut.com/l/_osNGFpp5yGLr
https://dl.doubtnut.com/l/_pqs43NA7K0jF


C. 

D. 44257

Answer:

Watch Video Solution

√2
3

a

80. The ratio of the areas of two similar triangles is 1:4

then the ratio of their corresponding sides………….

A. 

B. 

C. 

D. 

9: 1

1: 1

2: 1

1: 2

https://dl.doubtnut.com/l/_pqs43NA7K0jF
https://dl.doubtnut.com/l/_Kru9p2jH6lhO


Answer:

Watch Video Solution

81.  ~  then AB : PQ = ……………

A. AC : PR

B. AC : PQ

C. AB : PR

D. none

Answer:

Watch Video Solution

△ ABC △ PQR

https://dl.doubtnut.com/l/_Kru9p2jH6lhO
https://dl.doubtnut.com/l/_DtCFNJ4oPA7X


82.  is an isosceles triangle  then 

=…………..

A.  + 

B.  + 

C.  + 2

D. none

Answer:

Watch Video Solution

ΔABC ∠C = 90∘

AB2

AB2 BC 2

AC 2 BC 2

AC 2

83. Each angle of an equilateral triangle is…………

https://dl.doubtnut.com/l/_lv1ilCPrgnfk
https://dl.doubtnut.com/l/_AdasIgZXTGv6


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

60∘

80∘

100∘

70∘

84. Each exterior angle of an equilateral triangle

is………….

A. 

B. 

180∘

130∘

https://dl.doubtnut.com/l/_AdasIgZXTGv6
https://dl.doubtnut.com/l/_UnVKlXHHApj3


C. 

D. 

Answer:

Watch Video Solution

110∘

120∘

85. The longest side in a right triangle is…………..

A. smaller

B. hypotenuse

C. adjacent

D. none

https://dl.doubtnut.com/l/_UnVKlXHHApj3
https://dl.doubtnut.com/l/_zcvjBBv2Dy8m


Answer:

Watch Video Solution

86. In the figure, , DE// BC and , AC

= 5.6 then AE = ……….cm.

A. 1.8

B. 3.5

△ ABC =
AD

DB

3

5

https://dl.doubtnut.com/l/_zcvjBBv2Dy8m
https://dl.doubtnut.com/l/_LfP3HATpvBSM


C. 1.2

D. 2.1

Answer:

Watch Video Solution

87. From the figure, AD= ………..cm.

https://dl.doubtnut.com/l/_LfP3HATpvBSM
https://dl.doubtnut.com/l/_wDcxobAW4KlM


A. 2.4

B. 4.2

C. 8.2

D. 9.2

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_wDcxobAW4KlM


88. In the figure, LM//CB and LN//CD then  = ……….


A. 

B. 

C. 

D. none

Answer:

AM

AB

AN

AD

AN

ND

LC

ND

https://dl.doubtnut.com/l/_bfPD23A2MXyy


Watch Video Solution

89. In a trapezium, diagonals divide each other……….

A. proportionality

B. not proportional

C. congruent

D. none

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_bfPD23A2MXyy
https://dl.doubtnut.com/l/_CBnz3RuPHytv


90. The converse of "if in a triangle ABC, AB = AC then

" is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

∠B = ∠C

70∘

60∘

80∘

90∘

https://dl.doubtnut.com/l/_DzZ65WU9Mk3R


91. In the figure, two triangles are similar then x =

…………….cm.

A. 9.3

B. 1.5

C. 7.5

D. 8.5

Answer:

W t h Vid S l ti

https://dl.doubtnut.com/l/_KLi3fxuw7nCx


Watch Video Solution

92. In the figure, x = ……………cm.

A. 10

B. 12

C. 9

https://dl.doubtnut.com/l/_KLi3fxuw7nCx
https://dl.doubtnut.com/l/_uO4qzfv8Ewcg


D. 8

Answer:

Watch Video Solution

93.  ~ ,  +  = , =………

A. 

B. 

C. 

D. 

Answer:

△ ABC △ PQR ∠A ∠B 100∘ ∠R

60∘

80∘

90∘

100∘

https://dl.doubtnut.com/l/_uO4qzfv8Ewcg
https://dl.doubtnut.com/l/_evPxPMJda9Q3


Watch Video Solution

94.  and their areas are respectively 

 and  IF EF=15.4 cm then BC=……….cm.

A. 10.2

B. 8.7

C. 11.2

D. 10.3

Answer:

Watch Video Solution

ΔABC~ΔDEF

64cm2 121cm2

https://dl.doubtnut.com/l/_evPxPMJda9Q3
https://dl.doubtnut.com/l/_SQmhA1IGcZhD
https://dl.doubtnut.com/l/_NYbYhVxYP6FN


95. Which of the following are the sides of a right

triangle?

A. 10 cm, 8 cm, 6 cm

B. 12 cm, 1 cm, 9 cm

C. 3 cm, 5 cm, 12 cm

D. all

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_NYbYhVxYP6FN


96. From the figure y = ……………cm.

Watch Video Solution

97. The diagonal of a trapezium ABCD in which

 intersect at'O' . IF AB=2CD then the ratio of

areas of triangles AOB and COD is……….

AB/ /CD

https://dl.doubtnut.com/l/_DCrvAVjAErMq
https://dl.doubtnut.com/l/_XJnGZsnJsjDZ


A. 

B. 

C. 

D. none

Answer:

Watch Video Solution

14: 1

1: 2

1: 9

98.  and 2AB=DE and BC=8cm then

EF=……..cm.

A. 16

B. 19

ΔABC~ΔDEF

https://dl.doubtnut.com/l/_XJnGZsnJsjDZ
https://dl.doubtnut.com/l/_2mqodbXLGE1u


C. 12

D. none

Answer:

Watch Video Solution

99. , BC=4cm, EF=5cm and area of 

 then area of =…………

A. 105

B. 165

C. 125

D. none

ΔABC~ΔDEF

ΔABC = 80cm2 ΔDEF cm2

https://dl.doubtnut.com/l/_2mqodbXLGE1u
https://dl.doubtnut.com/l/_nn1l2RmYdwPC


Answer:

Watch Video Solution

100. In the figure PQR,  = , PQ =24 cm and

QR = 26 cm and in ,  =  and

KR = 8 cm then PK = …………….cm.

A. 10

∠QPR 90∘

trianl ≥ PKR ∠PKR 90∘

https://dl.doubtnut.com/l/_nn1l2RmYdwPC
https://dl.doubtnut.com/l/_yRipNAqnJn1B


B. 6

C. 19

D. 8

Answer:

Watch Video Solution

101. In the fiugre,  and  if AO = 20

cm, BO = 12 cm, PB = 18 cm then AQ = ……………cm.

QA ⊥ AB PB ⊥ AB

https://dl.doubtnut.com/l/_yRipNAqnJn1B
https://dl.doubtnut.com/l/_JpkmWxkyKoOW


A. 70

B. 60

C. 40

D. 30

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_JpkmWxkyKoOW


102. In the figure,  =  and AD = BE then …………..

A. DE//AB

B. DE = AB

C. CD = EB

D. none

∠A ∠B

https://dl.doubtnut.com/l/_mOdTrcA3hlAU


Answer:

Watch Video Solution

103. In the figure, in , , 

and  cm then  ………… cm.

A. 6.5

△ PQR QR/ /ST =
PS

SQ

3

5

PR = 28 PT =

https://dl.doubtnut.com/l/_mOdTrcA3hlAU
https://dl.doubtnut.com/l/_NuqRss7zHcpy


B. 10.5

C. 8.1

D. 3.3

Answer:

Watch Video Solution

104. In an equilateral triangle ABC, AD BC meeting

BC in D then =…………..

A. 

B. 

C. 

⊥

AD2

3BD2

BD2

AB2

https://dl.doubtnut.com/l/_NuqRss7zHcpy
https://dl.doubtnut.com/l/_HWy20WbGW4cf


D. none

Answer:

Watch Video Solution

105. In the figures, if AB//CD then x = ………….cm.

A. 10

https://dl.doubtnut.com/l/_HWy20WbGW4cf
https://dl.doubtnut.com/l/_zBJ9uKixhmGe


B. 12

C. 7

D. 9

Answer:

Watch Video Solution

106. IF the diagonals in a quadrilateral divide each

other proportionally then it is…….

A. square

B. trapezium

C. trianlge

https://dl.doubtnut.com/l/_zBJ9uKixhmGe
https://dl.doubtnut.com/l/_srsbAklRD3QD


D. none

Answer:

Watch Video Solution

107. In the figure, DE//AB and FE//DB then =

……………….

DC 2

https://dl.doubtnut.com/l/_srsbAklRD3QD
https://dl.doubtnut.com/l/_iifGsW3RfMTe


A. 

B. 

C. 

D. none

Answer:

Watch Video Solution

CF × AC

FE × AB

CF × FD

108. D,E and F are the mid points of the sides BC, CA

and AB respectivley of f  then the ratio of the

areas of  and ABC =………..

A. 

△ ABC

△ DEF

1: 9

https://dl.doubtnut.com/l/_iifGsW3RfMTe
https://dl.doubtnut.com/l/_kmjifiWpdBoJ


B. 

C. 

D. 

Answer:

Watch Video Solution

2: 1

1: 2

1: 4

109. In the figure  and 

then  is……………….triangle.

A. isosceles

B. equilatera.

=
PS

SQ

PT

TR
∠PST = ∠PRQ

ΔPQR

https://dl.doubtnut.com/l/_kmjifiWpdBoJ
https://dl.doubtnut.com/l/_442fBefmTER0


C. scalene

D. none

Answer:

Watch Video Solution

110. Side of a rhombus is 4 cm then its perimeter

is…………….cm.

A. 22

B. 21

C. 16

D. 20

https://dl.doubtnut.com/l/_442fBefmTER0
https://dl.doubtnut.com/l/_tWCy2Np3Po24


Answer:

Watch Video Solution

111. In the figure, x=……………

A. 

B. 

C. 

130∘

135∘

45∘

https://dl.doubtnut.com/l/_tWCy2Np3Po24
https://dl.doubtnut.com/l/_SOUq9WfEo8lJ


D. 

Answer:

Watch Video Solution

15∘

112. Two sides of a right triangle are 3cm and 4cm

then the third side is ……….cm.

A. 9

B. 6

C. 6.1

D. 5

https://dl.doubtnut.com/l/_SOUq9WfEo8lJ
https://dl.doubtnut.com/l/_6AQpQrae2Y6A


Answer:

Watch Video Solution

113.  ~ , AB : PQ = 3 : 4 then area 

 : area 

A. 

B. 

C. 

D. none

Answer:

Watch Video Solution

△ ABC △ PQR

△ ABC △ PQR

9: 16

9: 1

16: 9

https://dl.doubtnut.com/l/_6AQpQrae2Y6A
https://dl.doubtnut.com/l/_eINlDcRqGguP


Watch Video Solution

114. IF  then k=…………..

A. 16

B. 17

C. 19

D. 20

Answer:

Watch Video Solution

82 + 152 = k2

https://dl.doubtnut.com/l/_eINlDcRqGguP
https://dl.doubtnut.com/l/_d4dkoQPTgiMC


115. The angles of a triangle arc in the ratio 1:2:3 then

the largest angle is………….

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

70∘

60∘

90∘

20∘

116. Straight angle means………..

https://dl.doubtnut.com/l/_BY79j06enJVT
https://dl.doubtnut.com/l/_drV1NXTib4re


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

180∘

190∘

200∘

100∘

117. In the figure,  and 

 then 

PQ/MN, K M =
P

P

4

13

KN = 20.4cm KQ = …………………cm

https://dl.doubtnut.com/l/_drV1NXTib4re
https://dl.doubtnut.com/l/_5WWl8OD7YXws


A. 6.3

B. 4.8

C. 1.8

D. 2.8

Answer:

h id l i

https://dl.doubtnut.com/l/_5WWl8OD7YXws


Watch Video Solution

118. In the figure  if ,

 and  then 

A. 4

B. 5

DE/BC AD = x

AE = x + 2, DB = x − 2 CE = x − 1

x = ……………….

https://dl.doubtnut.com/l/_5WWl8OD7YXws
https://dl.doubtnut.com/l/_p6F186m8IFBJ


C. 6

D. 7

Answer:

Watch Video Solution

119. If  ~  if 

area of triangle DEF = 44 sq.unitsthen find the area of

.

A. 90

B. 101

C. 99

△ ABC △ DEF DE :AB = 2: 3 and

△ ABC

https://dl.doubtnut.com/l/_p6F186m8IFBJ
https://dl.doubtnut.com/l/_E4NnsuiCIUvp


D. 110

Answer:

Watch Video Solution

120. In the adjacent figure, PS and RQ are

perpendicular to PQ. If PO = 15 cm, QO = 10 cm and RQ

= 8 cm. Find PS,

https://dl.doubtnut.com/l/_E4NnsuiCIUvp
https://dl.doubtnut.com/l/_AburbHvZJEQE


Watch Video Solution

121. The perimeters of two similar triangle are 30 cm

and 20 cm respectively. IF one side of the first Triangle

is 12 cm. determine the corresponding side of the

second Triangle.

Watch Video Solution

122. The areas of two similar triangle are  and 

 respectively. IF the altitude of the bigger

Triangle is 4.5 cm. Find the corresponding altitude of

81cm2

49cm2

https://dl.doubtnut.com/l/_AburbHvZJEQE
https://dl.doubtnut.com/l/_3fE1yjOdIrYc
https://dl.doubtnut.com/l/_SFZraSKvendp


the smaller Triangle. 

Watch Video Solution

123. ABC is an isosceles triangle right angled at C.

Prove that .

Watch Video Solution

AB2 = 2AC 2

https://dl.doubtnut.com/l/_SFZraSKvendp
https://dl.doubtnut.com/l/_UWCOqDXdo8GO


124. The diagonal AC of a parallelogram ABCD

intersects DP at the point Q, where 'P' is any point on

side AB. Prove that .

Watch Video Solution

CQ × PQ = QA × QD

125. In the following figure, DE//BC then x = 

A. √3

https://dl.doubtnut.com/l/_n9EDdoyvVgMi
https://dl.doubtnut.com/l/_G2e5ywU2RhoH


B. 

C. 

D. 

Answer:

Watch Video Solution

√7

√6

√5

126. The areas of two similar triangle are  and 

. IF the median of smaller triangle is 10 m, then

the median of the larger triangle is

A. 15 m

B. 18 m

25cm2

36cm2

https://dl.doubtnut.com/l/_G2e5ywU2RhoH
https://dl.doubtnut.com/l/_7kHAIpcUAOTA


C. 16 m

D. 12 m

Answer:

Watch Video Solution

127. In , AD bisects , AB = 5 cm, BD

= 8 cm and DC = 6 cm then AC = ……….cm.

A. 4.5 cm

B. 4 cm

C. 4.8 cm

D. 5.6 cm

tra ∈ g ≤ ABC ∠A

https://dl.doubtnut.com/l/_7kHAIpcUAOTA
https://dl.doubtnut.com/l/_kattmEsc0ukv


Answer:

Watch Video Solution

128.  and  are two equilateral triangles

such that D is the midpoint of BC. Ratio of the areas of

triangles  and  is

A. 

B. 

C. 

D. 

Answer:

ΔABC ΔBDE

ΔABC ΔBDE

2: 1

1: 2

4: 1

2: 3

https://dl.doubtnut.com/l/_kattmEsc0ukv
https://dl.doubtnut.com/l/_eSiNTvqeg2vC


Watch Video Solution

129. In a right triangle

A. hypotenuse = side + side

B. hypotenuse = +

C.  = side + side

D. hypotenuse =  + 

Answer:

Watch Video Solution

side2 side2

hypoteνse2

side2 side2

https://dl.doubtnut.com/l/_eSiNTvqeg2vC
https://dl.doubtnut.com/l/_NAdLnuyyCNop


130. IF in two triangles , corresponding sides are in the

same ratio then the two triangles are similar, this is

called ………criterion.

A. SAS

B. ASA

C. SSS

D. None

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_dZ0zsaqHjS7X


131. The areas of two similar triangles are  and 

. IF one side of the first triangle is 6 cm then the

corresponding side of the latter triangle is ……………cm.

A. 12

B. 10

C. 8

D. 6

Answer:

Watch Video Solution

36cm2

64cm2

https://dl.doubtnut.com/l/_JgHnejcmcs3l


132. In the figure, D,E are mid-points of AB and AC then

: =


A. 

B. 

C. 

D. 

△ ADE □ BCED

1: 4

1: 3

2: 1

3: 2

https://dl.doubtnut.com/l/_UcYUdcHyTRf4


Answer:

Watch Video Solution

133. The sides PQ and PR of right triangle PQR are such

that PQ=5cm, PR=13cm . IF  then QR=

A. 8 cm

B. 12 cm,

C. 18 cm

D. 10 cm

Answer:

Watch Video Solution

∠Q = 90∘

https://dl.doubtnut.com/l/_UcYUdcHyTRf4
https://dl.doubtnut.com/l/_jlmtwn8vBz3f


Watch Video Solution

134. In the figure, D,E are the midpoints of the sides AB

and AC. If DE = 4 cm, then BC = 

A. 4 cm

B. 6 cm

C. 8 cm

D. 12 cm

https://dl.doubtnut.com/l/_jlmtwn8vBz3f
https://dl.doubtnut.com/l/_79hzuo7V3FJz


Answer:

Watch Video Solution

135. The diagonals of a rhombus are 24 cm and 32cm,

then its perimeter is

A. 80 cm

B. 45 cm

C. 38.4 cm

D. 56 cm

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_79hzuo7V3FJz
https://dl.doubtnut.com/l/_yEmh32SWxyrg


Watch Video Solution

136. , M is the midpoint of BC and N is

the midpoint of QR. IF  and 

 and AM=4 cm, then PN=

A. 12 cm

B. 4 cm

C. 4.8 cm

D. 5.6 cm

Answer:

Watch Video Solution

ΔABC~ΔPQR

ΔABC = 100cm2

ΔPQR = 144cm2

https://dl.doubtnut.com/l/_yEmh32SWxyrg
https://dl.doubtnut.com/l/_5wwnSGL5cyBO
https://dl.doubtnut.com/l/_0qhBBK3oI9qM


137. All circles are……….

A. not similar

B. similar

C. congruent

D. none

Answer:

Watch Video Solution

138. All squares are…….

A. congruent

https://dl.doubtnut.com/l/_0qhBBK3oI9qM
https://dl.doubtnut.com/l/_RBIcgN7dirPk


B. not similar

C. similar

D. none

Answer:

Watch Video Solution

139. What value(s) of x will make DE || AB, in the given

figure ? 

AD = 8x + 9 , CD= x + 3 ,

https://dl.doubtnut.com/l/_RBIcgN7dirPk
https://dl.doubtnut.com/l/_AoiE79gTdQRa


BE = 3x + 4 , CE = x. 

Watch Video Solution

140. In ,DE | | AB and 


AD= 9 + 8x, DC = 3 + x, CB = 4 + 3x, EC = x. Then find the

value of x.

W h Vid S l i

△ ABC

https://dl.doubtnut.com/l/_AoiE79gTdQRa
https://dl.doubtnut.com/l/_ZKrJdzLvMDpW


Watch Video Solution

141. Find the height of an equilateral triangle of side x

+ 2.

Watch Video Solution

142. In ,  =  D is the mid point of BC,

prove that  = .

Watch Video Solution

△ ABC ∠C ∠90

AB2 4AD2 − 3AC 2

https://dl.doubtnut.com/l/_ZKrJdzLvMDpW
https://dl.doubtnut.com/l/_uURfgezvtUfC
https://dl.doubtnut.com/l/_nYqCvPYQfDxH


143. A man goes 40 m due East and then 80 m due

North. Find his distance form the starting point.

Watch Video Solution

https://dl.doubtnut.com/l/_5RVIvAVS7vIp

